B. Com 5" Semester (Honours) Examination — 2021 (CBCS)
Subject : Management Accounting

Paper- DSE -1 (5.3.1 CH)

Time: 3 Hours Full Marks: 60

Candidates are required to give their answers in their own words as far as practicable.
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1. Answer any six questions. 5x6=30
(T (T IO AR TS W18
(@) An extremely high debt-equity ratio is an indication of good business — Do you agree?
Explain with arguments. 5
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(b) X Ltd. sells 40,000 units of its products at a loss of Rs.20,000. Marginal cost per unit
amounting to Rs. 20 and total fixed cost is Rs. 2,00,000. Calculate the number of units to

be sold to earn a profit of Rs. 18,250. 5
RAG! 2N 7B
(c) Distinguish between Budgeting and Budgetary Control.
IS F6AT S JCGLGH NI [NTHCTH W& AT (AT 5
(d) Discuss the role of Management Accountant’s in a large organisation. 5
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(e) From the following data given below, calculate Labour Variances: 5
Standard rate of wages per hour Rs. 10
Standard Output 120 units per hour
Actual wages paid for 900 hours (including idle times 50 hours) Rs.10,800
Output produced 1,20,000 units.
RGN & 7B

(f) What do you mean by Margin of Safety? How the margin of safety can be improved by a
manufacturing concern.
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(9) What do you mean by Cash Flow Statement? State the usefulness of Cash Flow
Statement. 5
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(h) State the differences between Management Accounting and Financial Accounting.
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2. Answer any three questions. 10x3=30
T (@ ORT AT T8I WS
(a) The standard cost of a certain chemical is as under:
40% of material A at Rs. 200 per ton
60% of material B at Rs. 300 per ton
A standard loss of 10% is expected in production. The following actual cost data is given
for the period
180 tons material A at a cost of Rs. 180 per ton
220 tons material B at a cost of Rs. 340 per ton
The weight produced is 360 ton.

Calculate:

(i) Material Price Variance; (ii) Material Usage Variance; (iii) Material Mix Variance; (iv)
Material Yield Variance; (v) Material Cost Variance. 10
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(b) From the following Balance Sheet of Rising Star Ltd. as on March 31, 2021, prepare a
Cash Flow Statement (Follow either AS-3 or IND AS 7) for the year ended March 31,

2021.
Balance Sheet
Particulars Note Amount Amount
No. As on Ason
31* March, 2021 | 31* March, 2020
Rs. Rs.
I. Equity and Liabilities
(1) Shareholders’ funds
(a) Share Capital 1 12,25,000 10,00,000
(b) Reserves and surplus 2 5,77,000 2,42,000
(2) Non-current liabilities
() Long- term borrowings 3 3,60,000 2,50,000
(3) Current liabilities
(a) Short -term borrowings 4 50,000 60,000
(b) Trade payables 1,50,000 40,000
(c) Other current liabilities 5 80,000 60,000
(d) Short -term provisions 6 1,90,000 1,40,000
Total 26, 32,000 17,92,000
Il. Assets
(1) Non-current assets
(a) Fixed assets
(i)Tangible assets (net) 14,20,000 10,70,000
(if)Intangible assets 7 11,000 20,000
(b) Non-current investments 2,61,000 1,62,000
(2) Current assets




(a) Current investments 1,20,000 80,000
(b) Cash and cash equivalents 3,00,000 1,00,000
(c) Other current assets 5,20,000 3,60,000
Total 26,32,000 17,92,000
Notes to Accounts: Amount Amount
as on 31% March, 2021 as on 31% March, 2020
Rs. Rs.
1.Share capital
Issues, Subscribed and Paid up:
Equity shares capital 9,25,000 6,00,000
10% pref. Shares capital 3,00,000 4,00,000
12,25,000 10,00,000
2. Reserves and surplus
General reserve 1,50,000 2,98,000
Profit & Loss Account 3,92,000 (81,000)
Securities Premium 35,000 20,000
Capital Reserve - 5,000
5,77,000 2,42,000
3. Long- term borrowings
12% Debentures 3,60,000 2,50,000
3,60,000 2,50,000
4. Short -term borrowings
12% Bank Loan 50,000 60,000
50,000 60,000
5. Other current liabilities
Bank overdraft 80,000 60,000
80,000 60,000
6. Short-term provisions
Proposed dividend 1,48,000 1,12,000
Provision for tax 42,000 28,000
1,90,000 1,40,000




7.Intangible assets

Additional information:

11,000

11,000

20,000

20,000

(A) During the year a machine costing Rs.1,50,000 (depreciation provided there on Rs.
70,000) was sold for Rs. 50,000. Total depreciation charged during the year was

Rs.1,48,000.

(B) At the end of the year some non-current investments costing Rs.50,000 were sold at a loss
of 20% and some current investments costing Rs.20,000 were sold at a profit 25%. Profit
or loss on investments was adjusted against the capital reserve.

(C) The preference shares were redeemed at the end of the year at par.
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(c)State the main assumptions of C-V-P Analysis. between Marginal Costing and Absorption Costing.

(5+5)
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(d)The following data relate to the working of a factory at Burdwan for the current year.

Capacity worked 50%
Fixed costs:

Salaries

Rent and rates
Depreciation

Other administrative Expenses

Variable Costs:
Materials
Labour

Other Expenses

Rs. 84,000
Rs. 56,000
Rs. 70,000

Rs. 80,000

Rs.

Rs. 2,40,000
Rs. 2,56,000
Rs. 38,000

Rs.

2,90,000

5,34,000



Possible sales at various levels of working are:

Capacity (Percent) Sales ( Rs.)
60% 9,50,000
75% 11,50,000
90% 13,75,000
100% 15,25,000

Prepare a Flexible Budget and show the forecast of profit at 60 per cent, 75 per cent, 90 per cent and
100 per cent capacity levels. 10
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(e)Following are the accounting ratios to the trading activities of an organisation:
Current ratio 2.5

Liquid ratio 1.75

Proprietary ratio (Fixed assets to proprietary fund) 0.80

Capital Gearing ratio (Equity share capital to Preference share capital) 6
Working Capital Rs. 3,75,000

Reserves and Surplus Rs. 1,25,000

Bank Overdraft Rs.30,000

There is no Long-term loan and Investment.

Prepare a statement of Proprietors’ Fund. 10
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B.Com. 5" Semester (Honours) Examination, 2021 (CBCS)
Subject : Fundamentals of Banking and Insurance

Paper : DSE - 1 (5.3.2 CH)

Time: 3 Hours Full Marks: 60

The figures in the right hand margin indicate full marks.
Candlidates are required to give their answers in their own words
as far as practicable.
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1. Answer any six questions: 5x6=30
(T (AT B/ AT GBS W83

(a) Discuss the essential features of a cheque.
(BTFT TR (IMTETS (T ST FAT|

(b) Explain the advantages and disadvantages of a Credit Card.
JH0 (FFOb FNG-AF SR 8 IR 3043 FHCAT|

(c) What are IFSC and NEFT?
IFSC 43¢ NEFT 1?

(d) What are the features of Digital Cash?
fEIGGET NoM- 41 (IFRTErsfe Bt i

(e) Distinguish between general crossing and special crossing.
SR (U & RO (FUIEA (GTFF WO ALFT N4 1|

(f) Write note on utmost good faith in the context of insurance.
I (ARFTS utmost good faith-4d BN DIl (|

(g) Discuss the features of life insurance.
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(h) Discuss the relationship between a banker and a customer.
TR S AXFF VT ST=NF AAHN FAT|

. Answer any three questions: 10x3=30
(T (AT o715 2THT T8 W88

(a) Discuss various types of cheque endorsement.
(B(FA RO 409 *PIEA N FEAD~ S|
(b) Discuss the functions of a Central Bank.
(A IF- AT I FCATEAT AT
(c) Discuss the functions of LICI.
LICI- A1 B! SCETHAT BCAT|
(d) Describe the role played by commercial banks in the development of an economy.
6 SO BRAA AMVGIP - I G I AT
(e) Discuss briefly the powers and functions of IRDA.
IRDA- AR SFX@] & FTRA FTHCA FATET AT




